I Powers G. Revision

1. Find the missing number in each box.
@ 6x6x6= 6I:| (b) 22x 52 = 10D (o) +11=11D
d) 13 x 13 =93 () 27 = 3 () 7|:|+'7 s
2 Write the missing number in each box.
(a) 22x32=6E| (b) 3><9=3|:I (c) 4 x49 = 14
(d) 64 x 32 = 24EI (€) = 52 M 2x32=2x BD
3 Work out
(a) 62+ 52 (b) 7+ 112 (©) 10%::82
d) 43%: & Bl dalill 4 37 (fy @ 52
4. Work out

@F 2 a — 162 b)) A1~ 9 0 402 & 73— 8
d 12%x2=+6° (6) 424 5 _ 3 @ 9 x 122
62 x 3

5. Work out

(a 10 = 10 (b) 28x 3? 00(Cigle B3, 1102
62 202

(d) 8 x 4 (e) 72 x 107 f 152 — @2

162 52x 7 - 22 x 32



